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l'nruuhtutr4ur.Jlrtr ruqpurhptrhp
228t1130 ihmnbn 12 phpp (nnnurtrh) Lru num 33 9 900 300
22AIAO iburphp 12 pbnB (rlrutnurhurrlnn) Lfu hurm 23 100 700
2281130 ihnpbp tl8 phnB (rlruhnubrurlnn) Lru huln a6 680 000 5000
22811150 q4pururhurpbp Lru hurun 700 14 000 20
228t1t70 U2mrlhhp[ pm4p (uurfrllhn) uu hruu: 95 I 900 20
22851100 b4puqufu ur\, upruqru\rup, p4p;ul uu hurun 52 15 600 300
249[200 Jnulrtrd lrlmlufnu Lru huln 210 2100 10
so|92r25 IurFUhFhhn qFururuluurur\|r uu hrurn 245 294000 1200
30t92125 .funlLn fufht (Highlighrer) 4 qmrh. rnrn. 20 hurur rJu hrurn MA ll 200 BO
30192231 rtrpliuhqlrirtr duqurlhtr (u\nj {rnpp Lru huru 45 1 800 40
30192V10 Unuhtu& lnF Lru hum 2ZJ o /f,u 30
30195911 Juqhlruru\urh qpuururfuuur\fr !up!]rh Lru huru 3000 33 000 u
30195920 +nurmuluuurtl uqfmu\ h duqhfruLulurfu, 12O x24Ou,J {JU hurur 19215 2[365 ll
30t97120 <nfqutrl t.lu mnr*r 105 I 050 t0
30197231 ln$ft pur:hh puqurtp (gur:t) L.lu hurur 6 18 000 3000
30197332 ]urllht (\tnn bu\nn) Lru hurur 670 13tmo 20
30197340 lqutlunhr uu huln 300 3 000 l0
30t97620 ?'nqp A4 DOUBLE A uu urnLn/Lo 700 7 000 10
30197620 bnulp 44 gnprlururlr Lru urnhn/trq 660 33 000 50
30197646 Dm4p A3 DOUBLE A Lru hurur 29& 14700 5
3924t2t0 J\num pryah tfu hurur 400 8 000
39292110 inunrutumur[ Uuhur. hLurl6h. l2O x 24our! Lru hurur Ir1O00 42000 -t
39292[0 *nuuufunur! uuhmrub tr duqfuhurxUujt. hnnuruhh hhhubnrl till huur t24r,0 62300 5
39292t20 $puruulunur\fr 9h2ng Lru num 112 22NO 200
39292530 €utmt rlhururnru 50url ttu hum 220 2200 10
39292530 Ilurhnh rlhrmunnu 30url t-ru hurur 85 B50 10
.f,|81100 lrunhlh rjlnunurunb lruluLn. rjhb l.ru hurur 69 I 380 20
43231100 U\phqtbp ftt uu rnnr*r llf, 1 150 10
412i'1OO U\nbugbn qupn uu urmrh 95 950 10

2 Strnhuru\rutu rlrqpurtrptrhp
24951320 Quunnq hh4m\ 51 Lru hruu I 600 16 000 10
337[210 tlurg urtihnnghQ Lru hruur 520 156 000 300
3376t000 Rmqunurhfr pnqp nmlnhnrl Lru hurur r20 2& OOO 2000
33761300 rhnph p4ph uppfrl ITII huln 800 240 000 300
33761400 2np ufudhnngfr\ Lru hurur 250 75 000 300
3922t490 Jqnrtq l.ru hum 290 ul 360 384
3922t500 Auhlrp tru hruur LIJ 67 200 384
39514100 Jurprfu]r uppfrl Lru hurur 2900 145 000 50
39514500 ^tbtlph unpht uu huur I 880 94 000 50
39522330 Jhquhb lurp uu hurm 270 54 000 200
39531800 -nguputh nbqfrhbqnpq Lru huur 16 000 64 000 /
39811100 l4[ hnuuqhpbfrl uu hum 550 165 000 300
3982U00 turlbl Lru l)o 374/0 240
39821100 l.rlhr Lru thurn 160 8 000 50
398312& <Uurhfrurru> urluuruhruhn4 rlfrgno tru 560 B4q 24
3983124 <Ulr$> urluuruhurhnrt fhgng IIII 780 18720 24
39831U5 )durn dhnplr hh4nr\ 51 Lru hurm t750 126 000 72
39831245 Lhnntlr odrun uu rhmn J5t' 17 500 50
39831281 Jqu\|r iluppblnr llurnp Lru hurm 370 74000 200
39837000 lqbt +nuh turturirg qnlnq Lru hurur 3 000 30 000 10
337112t0 Ub{u pu2nilfr uh[ Lru hurur 460 1 840

3 'funhlurhlmp
09r|2100/502 rbtqfrt, qphilfmtl t( thuln 520 4680 000 9000



09162200/502 rbhqhfu, nbqnrilun s4 rhmn 480 3 600 000 7500

09134200/501 r hobrurhh rl unhr ho' tutlunuuhh q4, rhun 520 3 900 000 7500

4 4rurlur\rupqlullr uuppur[npntrfuhp tr huput\]tg tupuut4purtup

30232231 .rn2rn u\ur{uu tfu huur 19 000 95 000 5

4299tr20 2hur Xerox PIIASER 6500/VVC6505 Black 2.5K BOOST riu huu 2083 2 083

4299t120 2hu Xerox PLIASER 6500/WC6505 Cvan 2.5K BOOST Lru hurur 2083 2 083

42991120 2hu Xerox PHASER 6500nVC6505 Mage nta 2.5K BOOST uu hurur 2 083 2083

42991t20 2hru Xerox PIIASER 6500/VVC6505 Yello w 2.5K BOOST uu hrurn 2083 2 083

32421100 FTP dnuulrnrl 24 AVG 4-2.0.51rftutnrfu qrutqrutht Lru rlhmn t)r 64981 415

f,. Jtrhnullphnp h hunurlthq urnmru4nurhp

15981100 ltnrnhn Lru hurur 130 6240 4lB

3222lOO furLurL Lru qq 800 904 tl?

15321000/1 Jnq.uhrmp. uluulnuutnh oqmurqnnbrlurh phuburh hlnip uu hum 840 8,10 I

t532rOO0n )nourhrmra. ruururnruurnh oqnurqnnbfurh phuUuh hlmp Lru huu 1 330 I 330 I

15321000/3 Jnnruhrmra. uturutnuumh oquurqnnbrlul ptlurltull hlntp t-ru huu 780 2340 3

t5321000/4 -fnaruhrmp. ruruurnuruuth oqrnurqnnbrluh phurLurt hlmB Lru huru 900 900 1

15321000/5 Inaurhrmra. rururnnuruuh osuruq.nnbiluh phuhuh htmra IflI huln 7BO 780 I

15321000/6 -lnouhi mn. ru urmnururnh oqm uqnnbrlufu nfu ult uh ht nt p Lfu hum 340 6 800 20

l532t000n -lnquhtnrp, qrumpuumfi oqmuqnpbLftuh ptu!uttt h';ntp ITII huu 850 4250

158111s0 {nmuuruu Lru hq 1 980 554 0,28

15811210 innF uu hruur 2 000 4 000

15821500/01 blurlurbpunthBtrhn Lru uq 1 520 J5Z 0.35

t582t500/02 (nurp ruprunuthh uu qq 1,100 JJI 0,398

15821500/03 qnhmh umubn l.lu qq 2 090 949 0,454

15821500/04 D urhra raturl ubptupt hB Lru bq 1 500 336 0,224

15821500/05 3urhhhn q u{unf !}t 2uputpn{ LIU hq 1 950 304 0.156

15842110/01 Qnt$Lur. rnhntrunruuulut tilI hq 3 490 1 1B0 0.338

15842110/02 rnt$hrn, 2n!nlru4ulquu Lru Uq 4120 I 450 0.352

15842110/03 ;nfu$hur, rnLnl ur4tuqurut Lru bo 4 300 998 0.232

15842[0/04 rnh$hm. ?nhnt u4ruulurut Lru Uq 3 100 434 0.14

15842110/0s rnt$htn. lnhnt untuulrun tfu qq 280 o/o 0,206

158421tQ/06 -rnt$hm. lnhntr,unuuluu trtr qq 500 zr5 0,182

15842t10/07 ;ntr$bur. rnLnl unurutuu ttu ttq 420 5tz 0,22

15842110/08 .rnh$bm. rnLnr untuuuln LTU bq Lno 223 0,t26

t5842110/09 qnL$hrn. lnhntrunuruuru uu qq 2390 626 0,262

15861100/01 Umnd Lru q 3 700 3 700 I

15B61100/02 Jmn6 ITII q 2590 I 093 0,422

15861100/03 Jmnd Lru Irc 2690 2276 0.846

15911310 -mt.rub. 5 urunh htthoilurtJn Lru hruur 7 300 7 300 I

1591840 .rnhruL. 20 tnunh hfuhqilunln ITII hrurn 36 900 36 900

15981100 lnrn uu hrurn 150 12 600 84

t9642000/or lnrhtBhthfuurthh rlrunb, uLlinutthtu uu htuur 50 150 3

19642000/02 qlnrhtBhthhurthtr ururnlr, uttrnulht Lru hurur l0 l0

15931700/01 ilrrb \rrlthhtu rnl huln 19 000 38 000 z

t5931700/02 Qudunb ilhuhh ttu hurur t6 150 16 150

24321400 Onh Ohurhrutt tutu 0,7t uu huur 10 200 20 400

6 juuanrlu0 anpbn h hurnuhhq urnuturnnrutp

221[200/Ol iuuronrhub uut anpbn thnp Lru hurur I 500 I 500

221[200/02 iquqprlub ur.;1qpphp' 4ur.1 h hruilu2|uurphrul]ttt lt2ultu{np 4htlphp ITII hurm 2 000 2 000

nfi1200/03
iqurqp{rub ru11 qpphp' $}rpp 4,huluppput2rupd qumilntplnttuhhp,

hrrlrnhn
rrrl hurur I 200 1 200 I

2211200/O4 Suuqnrlurb rutt qnBbn' Qhtutbut unullhhp Lru hum 3 000 3 000 1

ftlrnnrlbphtrutrhplr quhqurtllurtrtr urhhpurdh2rn urprnu4purtp

34321121 lmnh qurhl oE902l Lru nutn 5 000 5 000 I

9211100 )urndhth rmn Ravenol DXG 5W-30 /5U uu mum 35 000 35 000 I

42511128 )nh qmhr Qf,16A0015B
rtrl hrurn 5 000 5 000 I

425[t28 )nnnurlrhth quht FAADDWIB Lru hum 5 000 5 000 I

34631LQ lUrutnq 14062738 uu hrurn 15 000 30 000 2

3432t130 tnolrh unohrubiluh bndnu:lrtLnh hull upubnt P10004 uu hum 25 000 25 000

92116U JuhurthurLuLn rlurBnnn hbnntlt ITTI huru 3 000 6 000 z

I TtIftU3Oh63nh\,\,bF
924lJtOO \rxdurtnnnurqnmptnrthbnh qbn{ bu[uubp uu hurn 960 000 960 000

65200000 lbnmqrlurh rurrhmil Lru nnuu 47 072000 47 072000



65300000 :l hhrnnubutrnrBruh pturlunrd

lph FurZlunnl
Lru nnur{ 42 000 000 42 000 000 I

65100000 uu nnruil 7 588 000 7 588 000
90512000 frurl u puqrnuuunn num quuluu.ld dunurlntlatnrh Ittf

nntuu 2 040 000 2 040 000
98390000 F uu 4nu{ 928 000 928 0006A[100 )uquJnu ntrnrxrunuurt nu dunutntErnrlrhhn tfu 4nuu 1 000 000 I 000 000

50311120
-uruurqupgtruJFh uurpphpf qurhqur!ilurt h {hpurlinpnqffi-
rLunuJnrpjntttbfr tnt

4FrurI I 000 000 I 000 000
7226fi60 lutlurl{unq1u1 frtr bpuqpfr Lr \utph uq LuurunUnril Lru 4nurd 1 000 000 I 000 000
79632500 {Efrull4uunuluuntU uu nnuil I 000 000 1 000 000
45331100 uLuqfrp uu hurur 111 111 1 000 000 q
45331100 u bpEtrujF qbnuUnnnqduL ur2fuurmurtpfuhp SpR 0,lB CC 6l Lru hurur 106 000 106 000
45331100 DLupdlrg '1m4fr rlrnfu nril Lru hturn !16 800 46 800
45331100 iuugnugu0nn Jn!4 tfu hrurn 111 000 llt 000
794t1210 aunruusfrF nuuurqurnquuJll duntujnrptnrfuLbn Lru rufhu 70 000 840 000 12
50111180 rmd uu hurur 5 000 5 000
501u180 rbuqFuF qurhth trlugnl'J Lru huln 15 000 15 000
50111180 Iunru$uquruF lqugnru Lru hrurn 5 000 5 000
50111180 httrh unqblurqUufu \n6nurUtLph {rnfunr rJ ITIT hurur 7 000 7 000
50111180 lu4nuunrn uuq uFurgpn qunqu{npnril Lru hurtn 15 000 t5 000
50111180 ![!rugfr ptrfr u\urlng]r {rnfunrf l..fu huu 8 000 16 000 2


